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example of 3 × 3 matrix
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a11 a12 a13
a21 a22 a23
a31 a32 a33
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Step 1 Compute l21, l31.

Total �ops

Step 2 Update A

a′22 =

a′23 =

a′32 =

a′33 =

Total �ops

example of n × n matrix
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a11 . . . a1n
⋮ ⋱ ⋮

an1 . . . ann
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Step 1 Compute l21, l31, . . . , ln1.

Total �ops

Step 2 Update A

Update region

Number of updates

Flops per update

Total �ops
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example of 3 × 3 matrix

(A�er the �rst column)
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a11 a12 a13
0 a′22 a′23
0 a′32 a′33
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Step 1 Compute l32.

Total �ops

Step 2 Update A

a′′33 =

Total �ops

example of n × n matrix

(Before the ith column)

Step 1 Compute li+1,i , li+2,i , . . . , ln,i .

Total �ops

Step 2 Update A

Update region

Number of updates

Flops per update

Total �ops

number of flops in general

Flops at each step

Overall formula

Result
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